
 

 

Answer on Question #58930 – Math – Trigonometry 

Question 

 

Solution 

𝑑 = 5𝑠𝑖𝑛 (
𝜋

4
𝑡) = 𝑎𝑠𝑖𝑛(𝜔𝑡), 

𝜔 =
𝜋

4
. 

Frequency is 𝑓 =
𝜔

2𝜋
=

𝜋

4
∙

1

2𝜋
=

1

8
= 1/8  𝑠−1. 

Answer: 1/8  𝑠−1. 

Question 

 

Solution 

The formula for simple harmonic motion is 

𝑑 = 𝐴𝑠𝑖𝑛(𝜔𝑡 + 𝜑), 

where the amplitude is 𝐴 = 5 centimeters, the period is  𝑇 =
2𝜋

𝜔
= 4 seconds, hence 𝜔 =

2𝜋

𝑇
=

2𝜋

4
=

𝜋

2
 𝑠−1. 

It is given that 𝑑(0) = 0 ⇒ 𝐴𝑠𝑖𝑛(𝜔 ∙ 0 + 𝜑) = 0 ⇒ 𝐴𝑠𝑖𝑛(𝜑) = 0, hence 𝜑 = 0 or 𝜑 = 𝜋. 

Thus, 𝑑 = 5𝑠𝑖𝑛 (
𝜋

2
𝑡). 

Answer: 𝑑 = 5𝑠𝑖𝑛 (
𝜋

2
𝑡). 

 



 

 

 

Question 

 

Solution 

The formula for simple harmonic motion is 

𝑑 = 𝐴𝑠𝑖𝑛(𝜔𝑡 + 𝜑), 

where the amplitude is 𝐴 = 6 centimeters, the period is  𝑇 =
2𝜋

𝜔
= 4 seconds, hence 𝜔 =

2𝜋

𝑇
=

2𝜋

4
=

𝜋

2
 𝑠−1. 

It is given that 𝑑(0) = 6 ⇒ 𝐴𝑠𝑖𝑛(𝜔 ∙ 0 + 𝜑) = 6 ⇒ 6𝑠𝑖𝑛(𝜑) = 6, hence 𝜑 =
𝜋

2
 . 

Thus, 𝑑 = 6𝑠𝑖𝑛 (
𝜋

2
𝑡 +

𝜋

2
) = 6𝑐𝑜𝑠 (

𝜋

2
𝑡). 

Answer: 𝑑 = 6𝑐𝑜𝑠 (
𝜋

2
𝑡). 
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